
YH06-1A YH06-4A

YH06-2A YH06-5A

YH06-3A YH06-6A

8 < X < 27

26－8 + 1 = 19                      Ans：19個

216 < n < 512

512－216 + 1 = 297              Ans：297個

550  =   5.5 × 100  = 2.345208 × 10 = 23.45208

5500  = 7.416198 × 10 = 74.16198

＜1＞

＜2＞

550000  =   550 × 1000  = 8.193213 × 10 = 81.93213

0.0055  =                  =             = 0.1765175

＜1＞

＜2＞

3 3

3
5500

1000000
3 5500

100

3

3564  =   99 × 36  = 9.95 × 6 = 59.7

                                                     Ans：59

17325  =   77 × 225  = 8.775 × 15 = 131.625

                                                     Ans：131.625

4536  =   21 × 216  = 2.759 × 6 = 16.554

0.08  =             =             =             = 0.4380
10003

3 8 × 10
10

3 2 × 2.15
10

3 3

1.25  =             =               =             = 1.0751250
10003

3 125 × 10
10

3 5 × 2.15
10

200  = 10   2   = 14.14214             200  = 5.848035

32900  = 14.26043         ( 8.480926 )  = 610

3( - 4.121285 )  = - 70                         =

          =

3
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23
39
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512

7
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2100 = 4.582576 × 10

         = 45.83

36000 = 3.301927 × 10

         = 33.02

3

216
125

6
5=    = 13

1
5

2197
3375

13
15

=3

100000 = 4.641589 × 10

         = 46.42

3
100 = 4.643

1200 = 10.633

3

3

3120 = 2  × 3 × 5

a = 15

b = 2

2.828427 5.567764

7.071068 22.58318

4.217163 9.085603

4.626065 9.966555

a = 225

b = 30

3
5  － 120 = 5 … X

3120－4  = 56 … Y

3
7 －292 = 51 … X

3
292－6  = 76 … Y

X + Y = 127
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YH06-1B YH06-4B

YH06-2B YH06-5B

YH06-3B YH06-6B

a = 12         b = 5

a = 18         b = 30

7 × 7 × 7－300 = 43 ‥‥ X
3

300－6  = 84           ‥‥ Y

36 －200 = 16 ‥‥ X
3200－5  = 75 ‥‥ Y

       16 + 75 = 91

27 < X < 125

124－27 = 97                       Ans：97個

512 < X < 1331

1330－512 = 818            Ans：818個

330  = 1.817 × 10 = 18.17

3300  = 5.745 × 10 = 57.45

＜1＞

＜2＞

330000  = 6.98 × 10 = 69.8

0.0033 =             = 0.14888

＜1＞

＜2＞

3

3 3300
100

3

6525  =   29 × 225  = 5.385 × 15 = 80.775

20825  =   17 × 1225  = 4.123 × 35 = 144.305

17000  = 2.571 × 10 = 25.71

0.27  =             =              = 0.6462270
10003

3 3 × 2.154
10

3

0.64  =             =               = 0.8616640
10

3
3 4 × 2.154

10

170   = 13.04                                    300  = 17.32

                                                      300  = 6.69

2
           =     =                        ( 15.81139)  = 250

3
( - 13.38866 )  = - 2400

216
729

6
9

3500 = 59.16 35000 = 32.713

4096
4913

16
17

=3

99000  = 46.263
99  = 4.633

2
3

8
27000

2
30

=     =3
1

15

3

3

Ans：80
10 = 3.162278 15 = 3.872983

21 = 4.582576 210 = 14.49138

88 = 4.447960 880 = 9.582840

100 = 4.641589 1000 = 10

3 3

3 3

97/05/01

2008/09


